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QUESTION 1

Which two statements accurately describe the Program Product functions available on Hitachi Unified Storage (HUS)
systems? (Choose two.) 

A. LUN resizing is a basic function in SNM2 and does not require a separate license key. 

B. The Tray Power Saving function does require a separate license key. 

C. Restricting access to a HUS Command Device is possible using Account Authentication. 

D. Hitachi Dynamic Link Manager is used to control the HUS active/active controller feature. 

Correct Answer: AB 

 

QUESTION 2

What is the correct procedure to replace a suspected SAS interface cable connected to the last drive box (DBL) of a
Hitachi Unified Storage system? 

A. Replace the suspected SAS interface cable by a new one. 

B. Using SNM2, disable the suspected SAS link, replace the cable and enable the SAS link. 

C. Using the WEB tool, disable the suspected SAS link, replace the cable and enable the SAS link. 

D. Slide out the I/O module from the DBL, replace the cable and slide the I/O module back in. 

Correct Answer: D 

 

QUESTION 3

Which two self-service resources would you use if you require installation assistance? (Choose two.) 

A. Hitachi Data Systems Support Portal 

B. Hitachi Data Systems InfoSearch database 

C. Hitachi Data Systems product documentation 

D. Hitachi Data Systems Installation Service Manager 

Correct Answer: AC 

 

QUESTION 4

You have been asked to allocate storage from a Hitachi Unified Storage system to a cluster of AIX hosts. The
application owner wants you to make sure that the queue depth is set to 16 for all the LUNs. Where do you define the
queue depth? 
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A. on each LUN 

B. on the server HBAs 

C. on the WWNN Target Ports 

D. on the WWPN Target Ports 

Correct Answer: A 

 

QUESTION 5

Which two expansion trays are supported on Hitachi Unified Storage (HUS) model 110? (Choose two.) 

A. 2U tray to hold up to 24 SFF drives 

B. 2U tray to hold up to 12 LFF drives 

C. 4U tray to hold up to 48 LFF drives 

D. 4U tray to hold up to 38 SFF drives 

Correct Answer: AB 

 

QUESTION 6

You have just allocated four 3TB LUNs from a Hitachi Unified Storage System to a set of ESX 4.x servers. The VMware
administrator can see volumes that are assigned to the servers from an older storage array, but not the volumes you
have just allocated. What is the most likely cause? 

A. The FC switch ports need to be disabled/enabled to force the HBAs to re-login to the fabric. 

B. This a newer storage array with an older version of ESX so the HBA drivers need to be updated. 

C. ESX 4.x servers cannot recognize volumes that are 2TB or larger. 

D. The rescan function in VMware is not working, so both servers need to be rebooted. 

Correct Answer: C 

 

QUESTION 7

What are two characteristics of the active/active architecture on the Hitachi Unified Storage (HUS) systems? (Choose
two.) 

A. Multiple ports from the same controller are required to support the active/active feature. 

B. Firmware upgrades are non-disruptive even with one path from a host. 

C. Controller workload balancing is managed by the HUS system. 
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D. HDLM needs to be used to benefit from the active/active feature. 

Correct Answer: BC 

 

QUESTION 8

A customer would like to deploy a clustered File Module option on their Hitachi Unified Storage system. What is a valid
connection for the cluster interconnect? 

A. 1Gb Ethernet 

B. 16Gb Fibre Channel 

C. 10Gb Ethernet 

D. 8Gb Fibre Channel 

Correct Answer: C 

 

QUESTION 9

A customer is planning to deploy the Hitachi Command Suite (HCS) in an existing production environment that includes
several Hitachi Unified Storage (HUS) systems with the File Module option. Which two advantages does HCS have over
Storage Navigator Modular 2? (Choose two.) 

A. cross-platform management for both file and block 

B. ability to upgrade microcode non-disruptively 

C. agent-less discovery of hosts 

D. ability to manage multiple HUS systems 

Correct Answer: AC 

 

QUESTION 10

A manufacturing company wants to centrally manage all their multipath software using Hitachi Global Link Manager
(HGLM). Which two types of multipath software are supported? (Choose two.) 

A. HDLM 

B. VxDMP 

C. PowerPath 

D. SDD 

Correct Answer: AB 
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QUESTION 11

When implementing host access security for a LUN in a Hitachi Unified Storage system, to what is the host WWN
applied? 

A. Host Group 

B. Storage Group 

C. Domain Group 

D. Link Group 

Correct Answer: A 

 

QUESTION 12

While installing a new Hitachi Unified Storage (HUS) system, your customer wants to manage the array using a fixed
Public IP address. How can this be accomplished? 

A. Use the Web Tool on the Public LAN port for each controller to reconfigure the IP address. 

B. Use SNM2 to connect to the Maintenance LAN port on either controller to set the IP address. 

C. Ask the customer to set a static address on the DHCP Server and plug in the Public LAN. 

D. Set the IP address using the LCD displays of each controller on the HUS. 

Correct Answer: B 

 

QUESTION 13

What are two effects of persistent binding? (Choose two.) 

A. Persistent binding can speed up path failover. 

B. Persistent binding guarantees Command Device security. 

C. Persistent binding can speed up the server boot process. 

D. Persistent binding guarantees that target assignments are preserved between reboots. 

Correct Answer: CD 

 

QUESTION 14

You want to add an account for a new storage administrator on a Hitachi Unified Storage system using Storage
Navigator Modular 2. Which Account Authentication role must you have to be able to perform this task? 

A. Storage Administrator (View and Modify) 
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B. Account Administrator (View and Modify) 

C. Security Administrator (View and Modify) 

D. Authentication Administrator (View and Modify) 

Correct Answer: B 

 

QUESTION 15

What are two characteristics of the Hitachi Unified Storage (HUS) controllers? (Choose two.) 

A. Mixing FC and iSCSI front-end ports is allowed on all models. 

B. The FC front-end ports automatically sense 1, 2, 4 and 8 Gbps. 

C. The FC front-end ports offer improved sequential I/O performance. 

D. HUS models 110 and 130 are active/passive. 

Correct Answer: AC 
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